## DENTITIES TUNDAMENTAL

I dentity - true for any value 2 (X+5) = 2X+10 Purpose: to simplify complicated expressions.

1) 
$$\csc \theta = \frac{1}{\sin \theta}$$

$$SN\theta = \frac{1}{CSCA}$$

2) 
$$Sec \theta = \frac{1}{(85)^2}$$

3) 
$$col \theta = \frac{1}{ton \theta}$$

4) 
$$\tan \theta = \frac{\sin \theta}{\cos \theta}$$

5) Cof 
$$\theta = \frac{\cos \theta}{\sin \theta}$$

## Pythagorean

Sin 
$$\theta + \cos^2 \theta = 1$$
  
Sin  $\theta = 1 - \cos^2 \theta$ 

SIn(-0)=- SIn 0 (DS (-D) = COS O ton (-0) = - tan 0

Verify.

$$\frac{1}{\tan^2(\theta)} \left(\frac{1}{\sec^2 \theta}\right) + \cot \theta + \tan \theta = -\cos^2 \theta$$

$$\left(\frac{\sin^2 \theta}{\cos^2 \theta}\right) \left(\cos^2 \theta\right) - \left(\frac{\cos \theta}{\sin \theta}\right) \left(\frac{\sin \theta}{\cos \theta}\right) = -\cos^2 \theta$$

$$-\cos^2 \theta$$

$$-\cos^2 \chi$$

$$= -\cos^2 \chi$$

$$\frac{\cos\theta \cdot \sec\theta}{\cos\theta \cdot \sin\theta} = \frac{1}{\tan\theta}$$

$$\frac{\cos\theta \cdot \sin\theta}{\sin\theta \cdot \cos\phi} = \cot x$$

$$\frac{\cos\theta \cdot \cot\phi}{\sin\theta \cdot \cos\phi} = \cot x$$

$$\frac{1}{\sin\theta} \cdot \frac{1}{\sin\phi} = \frac{\cos x}{\sin\phi}$$

$$\frac{1}{\cos\theta} \cdot \frac{1}{\sin\theta} - \frac{\sin\theta}{\sin\theta} = \frac{\cos\theta}{\sin\theta}$$

$$\frac{1}{\cos\theta} \cdot \frac{1}{\sin\theta} = \frac{\cos\theta}{\sin\theta}$$

$$\frac{1}{\cos\theta} \cdot \frac{\cos\theta}{\sin\theta} = \frac{\cos\theta}{\sin\theta}$$

$$\frac{1}{\cos\theta} \cdot \frac{\cos\theta}{\sin\theta} = \frac{\cos\theta}{\sin\theta}$$

$$(cot^{2}B-csc^{2}B=1-2csc^{2}B) = 1-2csc^{2}B$$

$$(cot^{2}B+csc^{2}B)(cot^{2}B=csc^{2}B) = 1-2csc^{2}B$$

$$(cot^{2}B+csc^{2}B)(-1)$$

$$-(cot^{2}B-csc^{2}B=1-2csc^{2}B)$$

$$1-csc^{2}B-csc^{2}B=1-2csc^{2}B$$

$$1-csc^{2}B=1-2csc^{2}B$$

$$\frac{\cos^2 x + 3\sin x - 1}{3 + 2\sin x - \sin^2 x} = \frac{1}{1 + \csc x}$$

$$\frac{3\sin x - \sin^2 x}{x - \sin^2 x} = \frac{1}{\sin x}$$

$$\frac{3 + 2\sin x - \sin^2 x}{3 + 2\sin x} = \frac{1}{\sin x}$$

$$\frac{\sin x \left(3 - \sin x\right)}{(1 + \sin x)\left(3 - \sin x\right)} = \frac{1}{\sin x}$$

$$= \frac{\sin x + 1}{\sin x}$$

$$= \frac{\sin x}{\sin x + 1}$$

$$= \frac{\sin x}{\sin x}$$

$$= \frac{\sin x}{\sin x + 1}$$

$$= \frac{\sin x}{\sin x + 1}$$

$$= \frac{\sin x}{\sin x + 1}$$